DO (x+2)2-2=4x* @ x*+1=0
@2)62—1—(x—2)2:x2 @ x*-3x+1

® (x+2)(x—4) =2

22+ x2 —dx+4-x2=2x2—4x+4=0
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(x=3)(x+5)=0
X2 4+2x-15=0
. A=-15
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x2-3x-18=0
(x=6)(x+3)=0
Lx=6FEFEx=-3
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® 2(x-1)2=20, x =1+ V10
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D x*-4=0

© x»2=8x-16

® (Bx+1)2=1

® x*=0

3x—-3

® (4x—1)(x+2)
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O|AYAA x* 4+ 8x +4 4 4m = 0 °] TZ= 27 A% m o =

® 1 @2 @3 @ 4 ® 5

x2 4+ 8x +4+4m =0 °] FLL XA
PAAFA S| P2 AP = ofof qiT,
x2+8x+16 = (x+4)° O|BE, 4+ 4m =16
4dm = 12

som=3
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O (x-32=2>x=-3+12
@2(x+1)2:6—>x:—1i\/§
B x2+2x=1>x=1+12

@ X’ +4=-6x—->x=-5+V3

® 2+8x+5=0->x=2+ 3

Dx=3+12

@ (x+1)2=2,x=-1+2
@ (x4+3)2=5x=-3+5
® (x+4)2=11,x=—-4+ V11




